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Econ 328 
Exam 2 
March 11, 1999 



Write all answers in your blue book. Show all of your work. 





1. (25pts) Suppose that Firm X and Firm Y are both potential producers of an identical product in a contestable market. The market demand is given by P = 24 - 2Q. Each firm has no sunk costs, so that the cost of producing zero units is zero. Each firm's production costs are given by 
C(Q) = 10 + 12Q for Q>0, where Q is the firm's output. Find the Nash equilibrium of the Bertrand price-setting game. 



2. (45pts) Consider the Subsidy Game, in which two firms produce an identical product. Firm A is the sole producer of this product located in the United States, and Firm B is the sole producer located in Great Britain. There are no other firms who produce the product. Suppose that the market demand in each country is given by 
P = 10 - (1/5)Q, where Q is the quantity sold in that country, and P is the price in that country. The marginal cost of production for each firm is 1 and the cost of shipping a unit across the Atlantic is 0.5. Neither firm has any fixed costs. Suppose that each firm is free to ship its product to the other market. Find the optimal export subsidy for Great Britain. 



3. (15pts) State Arrow's Impossibility Theorem. 



4. (15pts) Consider the Candidate Positioning Game under majority rule in which there are two candidates and 65 voters. Each voter has preferences that locate him at a point along a spectrum that ranges from 0 to 1. A voter will vote for whichever candidate holds the position closest to the voter's position on the spectrum. If two candidates are equally distant from a voter, the voter will flip a coin to determine which candidate gets his vote. The voters' positions are given in the table below. Assuming that both candidates want to win, what are the candidates' Nash equilibrium positions? Who wins the election? 

	Voter position
	0.0
	0.1
	0.2
	0.3
	0.4
	0.5
	0.6
	0.7
	0.8
	0.9
	01.0

	Number of voters
	3
	20
	5
	1
	1
	1
	1
	1
	2
	20
	10


